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1. AH “2H,(g) +0,(g) ==2H,0(1)"
? 298 K 571 kJ o
: 4. AH?
2H,( ) +0,( )==2H,0( ) -571KkJ
101 kPa 25 C 2 mol 2S0,(g) +0,( g ==2S0,( g)
1 mol 2 mol AH = -196.64 kJ/mol
571 kJ o AH 2 mol SO, 1 mol 0,
“ ” 2 mol SO,
196. 64 kJ( ) o
AH o
o 2 mol SO, 1 mol 0,
() o 196.64 k]
5. “-7
o ?
CAU=Q+W AH
Q,=AU-W=(U,-U) +(p,V, -p,V,) = “-7
(U, +p,V,) =(U, +p,V,) =H, -H, =AH CH, ?
Q,=AH 890.31 kJ/mol,
o, “-r AH
o “pvoelr °
o 6. N
Q=0,=AH ?
AH o
2 AH ?
Cl,(g) +H,(g)==2HCI(g) (
AH ?
AH ) o
AH o o
3. AH kJ /mol ? 7.H,0(g) ==H,0(1) AH= -44 kJ/mol
AH kJ /mol ?
(1)
. 2H,(g) +0,(g) —2H,0(1) (2)

AH = -571 kJ/mol AH kJ /mol 0 >
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| 2 H,0( g) ==H,0(]) AH, =a kJ/mol AH, =b kJ/mol a b
AH = -44 kJ/mol o a b 47 “=7
0 9. ?
1 mol 1 mol
44 kJ. (1) ;
8 AH ? (2) ;
AH (3) AH “4+7 “=7” X
(1) 7 (2) (4) kJ /mol;
(5) AH ;
1 (3) ;(4) (6)
(5) o o ( 12014 - 10 —=22)



